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   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order: 3

 2-pole [Gcm] = 85.94

 4-pole [G] = -223.35

 6-pole [G/cm] = -17.218

 Local fit of order: 3

 2-pole [Gcm] = 85.968

 4-pole [G] = 359.97

 6-pole [G/cm] = -17.274
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   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order: 3

 2-pole [Gcm] = 68.899

 4-pole [G] = -216.16

 6-pole [G/cm] = 7.145

 Local fit of order: 3

 2-pole [Gcm] = 68.927

 4-pole [G] = 367.17

 6-pole [G/cm] = 7.0893
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 Local fit of order: 3

 2-pole [Gcm] = 72.633

 4-pole [G] = 50.225

 6-pole [G/cm] = 10.342

 Local fit of order: 3

 2-pole [Gcm] = 72.661

 4-pole [G] = 633.55

 6-pole [G/cm] = 10.287
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 Local fit of order 3

 2-pole [Gcm] = 68.059

 4-pole [G] = 1142.5

 6-pole [G/cm] = -336.66

 Local fit of order: 3

 2-pole [Gcm] = 57.488

 4-pole [G] = 258.31

 6-pole [G/cm] = 44.223
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 Local fit of order: 3

 2-pole [Gcm] = 93.369

 4-pole [G] = -493.37

 6-pole [G/cm] = 80.619

 Local fit of order: 3

 2-pole [Gcm] = 94.105

 4-pole [G] = 1874

 6-pole [G/cm] = 46.752
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 Local fit of order: 3

 2-pole [Gcm] = 40.359

 4-pole [G] = -518.51

 6-pole [G/cm] = 174.16

 Local fit of order: 3

 2-pole [Gcm] = 40.222

 4-pole [G] = 1840

 6-pole [G/cm] = 188.09
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   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order 3

 2-pole [Gcm] = 10.237

 4-pole [G] = -1677.1

 6-pole [G/cm] = 1534.2

 Local fit of order: 3

 2-pole [Gcm] = 62.588

 4-pole [G] = 4139.6

 6-pole [G/cm] = -681.11
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   Ix   Iy calculated

   Iy   Iy Sum

 Local fit of order: 3

 2-pole [Gcm] = 49.611

 4-pole [G] = 164.92

 6-pole [G/cm] = -13.659

 Local fit of order: 3

 2-pole [Gcm] = 49.181

 4-pole [G] = 121.36

 6-pole [G/cm] = -4.2795


